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BMIUREARICHITAIMGREREHER
AR EKA2-7
BSF2EHE
BI%E B - K IR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm

Ot ER (L) — 0.04 — PA-1000

Q@mfAYOfHE — 0.05 — PA-1000

3/1(A)EIL QE &AM — 0.05 — PA-1000

@IZaF — 0.05 — PA-1000

iz 0.06 0.07 — PA-1000

Ot Ep (1) — 0.04 — PA-1000

QmEAIAYOfE — 0.05 — PA-1000

9/1 () BEN @& E MR — 0.05 — PA-1000

@IF5>aTF — 0.04 — PA-1000

fibis 0.06 0.06 — PA-1000

TREI1EERE
I B - 0R 545 AR (Y A70 > —AhEE) s .
5cm 50c¢m 100cm

Ot Es (L) — 0.05 — PA-1000

Q@mfAYOfE — 0.06 — PA-1000

3/2(A)EY AR A — 0.06 — PA-1000

@I5>aTF — 0.05 — PA-1000

15 0.07 0.07 — PA-1000

Ot ER (L) — 0.05 — PA-1000

QEAIAYOfE — 0.05 — PA-1000

9/2(R)HEN QE & E MR — 0.05 — PA-1000

@I5>aTF — 0.04 — PA-1000

iz 0.06 0.06 — PA-1000
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BILREARICHITOMGHEE A EIER
AR EKA2-7
R 30LERE
BI%E B - K IR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm

Ot ER (L) — 0.04 — PA-1000

Q@mfAYOfHE — 0.04 — PA-1000

3/1(&) BN REEHEFE — 0.05 — PA-1000

@IZaF — 0.05 — PA-1000

iz 0.06 0.07 — PA-1000

Ot Ep (1) — 0.04 — PA-1000

Q@AY OfE — 0.04 — PA-1000

9/5(K) BN QA MEE R — 0.06 — PA-1000

@IF5>aTF — 0.05 — PA-1000

fibis 0.05 0.06 — PA-1000

TR 294EFE
WER- X Az AR AT~ MR HES s
5cm 50c¢m 100cm

Ot Es (L) — 0.04 — PA-1000

Q@mfAYOfE — 0.04 — PA-1000

3/1(KR)EY AR A — 0.05 — PA-1000

@I5>aTF — 0.04 — PA-1000

15 0.06 0.06 — PA-1000

Ot ER (L) — 0.04 — PA-1000

QEAIAYOfE — 0.04 — PA-1000

9I1(&)EY QE & E MR — 0.05 — PA-1000

@I5>aTF — 0.05 — PA-1000

iz 0.07 0.05 — PA-1000
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FriEsh: ;EKO2-7

TR 284F
BI%E B - K IR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm

Ot &R (1) — 0.04 — PA-1000

Q@mfAYOfHE 0.04 PA-1000

3/10K) BN QE &AM — 0.06 — PA-1000

@IZaF — 0.05 — PA-1000

fibis 0.07 0.07 — PA-1000

Ot Ep (1) — 0.05 — PA-1000

QmEAIAYOfE 0.05 PA-1000

9/1(R) NI QA MEE R — 0.07 — PA-1000

@I 5>aF — 0.05 = PA-1000

15 0.08 0.08 — PA-1000

ERE274EE
B - R 545 b ARG Rloh f Lt B ﬁ'ﬁi%
5cm 50cm 100cm

Ot ER (1) — 0.04 — PA-1000

QmEAIAYOfE 0.05 PA-1000

3/1(M)BEN &AM — 0.07 — PA-1000

@IF5>aTF — 0.06 — PA-1000

iz 0.07 0.08 — PA-1000

Ot i ER (1) — 0.04 — PA-1000

Q@mEAYOffa 0.05 PA-1000

9/1(R) BB RE & HEFE — 0.07 — PA-1000

@IF5>aTF — 0.05 — PA-1000

ibi5 0.08 0.08 — PA-1000
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R 2645
e s BEME (XA 70—~ LMNMEE) e
BIE B - X% I TE Hh 2 Som Py 000 BIES e
Ot ER (1) — 0.05 — PA-1000
Q@mfAYOfHE 0.05 PA-1000
3/2(A BN QE &AM — 0.08 — PA-1000
@IZaF — 0.06 — PA-1000
fibis 0.10 0.10 — PA-1000
Ot Ep (1) — 0.05 — PA-1000
QmEAIAYOfE 0.05 PA-1000
12/2 (XN Q& HEFHE — 0.09 — PA-1000
@IF5>aTF — 0.09 — PA-1000
iz 0.08 0.10 — PA-1000
Ot Ep (1) — 0.04 — PA-1000
QmEfAIAYOfE 0.05 PA-1000
9/2(R)EN &AM — 0.10 — PA-1000
@IF5>aTF — 0.06 — PA-1000
fibis 0.09 0.09 — PA-1000
Ot ER (1) — 0.04 — PA-1000
QmEAIAYOfE 0.04 PA-1000
6/2(A)EN RE &R FHE — 0.07 — PA-1000
@IF5>aTF — 0.06 — PA-1000
iz 0.09 0.09 — PA-1000
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BEILREAREICE T OMAHRE R EHER

A EkO2-7

TR 254 E
. BIEE (R4 —N)LER)
HIE B - XA I TE Hh R AlE
Al 5E B - K% | 5E 1 Som Py 000 Bl 5E 27 =
%%%iﬂqﬂu:\%ﬂ(:t) — 0.04 — PA-1000
T b BIAYOfHA 0.04 PA-1000
2 /jom(%;ﬁﬁh QE G ik — 0.09 — PA-1000
@IS5>aTF — 0.07 — PA-1000
fbig 0.11 0.11 — PA-1000
Ot h b ER (1) — 0.06 — PA-1000
QmEmfAIAY O fhE 0.09 PA-1000
12/79(A) Bh REAEEME — 0.10 — PA-1000
@IS5>aTF — 0.08 — PA-1000
iz 0.12 0.12 — PA-1000
O L ER (1) — 0.04 — PA-1000
QmAIAY O 0.07 PA-1000
10790K) Eh REAEEME — 0.08 — PA-1000
@IS5>aTF — 0.08 — PA-1000
iz 0.11 0.11 — PA-1000
O L ER (1) — 0.06 — PA-1000
QEfAIAYOfhE 0.09 PA-1000
REAEEME — 0.10 — PA-1000
@IS aTF — 0.09 — PA-1000
8/9(%&) HEh b5 0.13 0.12 — PA-1000
AN F — 071 — PA-1000 R A (RIS FIED A BEIE D % B 157F)
BALF — 014 — PA-1000 ”
O~ F — 015 — PA-1000 o
O/N—TSFTHR — 0.06 — PA-1000 7
Ot b ER () — 0.06 — PA-1000
QEAIAYOfHE 0.08 PA-1000
6.10(R) £Y R AMEE[fik — 0.11 — PA-1000
@IS aTF — 0.10 — PA-1000
iz 0.14 0.11 — PA-1000
Ot b ER () — 0.07 — PA-1000
QEAIAYOfHE 0.12 PA-1000
4,18(K) Bh REAMEME — 0.11 — PA-1000
@IS aTF — 0.08 — PA-1000
bz 0.11 0.12 — PA-1000
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5cm 50¢m 100cm
Ot ER (1) — 0. 07 — PA-1000
Q@mfAYOfHE 0.17 PA-1000
3/71(K) Eh @EA R — 0. 11 — PA-1000
@IZaF — 0. 08 — PA-1000
iz 0.16 0. 14 — PA-1000
Ot ER (1) — 0.14 — PA-1000
Q@AY OfE 0. 11 PA-1000
2/8(&) BENL QHEAEEMR — 0.13 — PA-1000
@IF5>aTF — 0.12 — PA-1000
iz 0.10 0.13 — PA-1000
Ot Ep (1) — 0.13 — PA-1000
) Q@AY OfHE 0.17 PA-1000
1/1\?(%2;3%%“ &AM — 0.15 — PA-1000
@IF5>aTF — 0. 09 — PA-1000
fibis 0.13 0.13 — PA-1000
Ot Ep (L) — 0. 08 — PA-1000
Q@I AYOfHE 0.16 PA-1000
12/7(€) BEh BEEHEME — 0.12 — PA-1000
@IF5>aTF — 0. 10 — PA-1000
] 0. 15 0. 14 — PA-1000
Ot i ER (1) — 0. 08 — PA-1000
Q@mEAYOffa 0. 11 PA-1000
1130k Bh Q& HEFE — 0. 11 — PA-1000
@IF5>aTF — 0. 09 — PA-1000
fibi5 0.12 0.13 — PA-1000
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HBI%E B -Kix BIE Hh = - = 100 HIEFR -
Ohtth g ER (1) — 0. 08 — PA-1000
QrEAIAYOfHSE 0.19 PA-1000
10.710(K) EEh QEAMEHE — 0.12 — PA-1000
@I5>aF — 0. 09 — PA-1000
b5 0.15 0.14 — PA-1000
Ohsth i ER (1) — 0.10 — PA-1000
QmEfAIAY OffE 0.17 PA-1000
9./71(&) Bh QEAMESHE — 0.13 — PA-1000
@J5>aF — 0. 10 — PA-1000
fibis 0. 16 0. 14 — PA-1000
Ot i ER (1) — 0. 08 — PA-1000
QmEfAIAY OffE 0.18 PA-1000
8.78()K) Bh QEAMESHE — 0.13 — PA-1000
@IJZ>aF — 0.12 — PA-1000
fibis 0.17 0.13 — PA-1000
Ohth g ER (1) — 0. 08 — PA-1000
QmEfAIAY OfE 0.12 PA-1000
1.79(B) Bhn QEAMESHE — 0.13 — PA-1000
@IJZ>aF — 0.12 — PA-1000
fibis 0. 16 0. 15 — PA-1000
Ohtth g ER (1) — 0. 09 — PA-1000
QeI ALY Otk 0. 16 PA-1000
6.714(K) Bh QEEMEE A — 0.13 — PA-1000
@I5>aF — 0. 09 — PA-1000
ibis 0. 15 0. 15 — PA-1000
Ohth i ER (1) — 0. 09 — PA-1000
QeI ALY Otk 0. 15 PA-1000
5/14(F) Bh QE AR — 0.13 — PA-1000
@I5>aF — 0.13 — PA-1000
iz 0.17 0.16 — PA-1000
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BIEB-Kz B 5E #h R = =0c 100G BIE 2R S
Ot ER (1) — 0.10 — PA-1000
QA AYOfHE 0. 20 PA-1000
416(K) EY REESEE MR — 0.15 — PA-1000
@IS aF — 0.12 — PA-1000
b5z 0.15 0.17 — PA-1000
Ot L ER (1) — 0.10 — PA-1000
QEAIAYOfHE 0.17 PA-1000
3/14(K) EEL QAR — 0.15 — PA-1000
@IS aF — 0.13 — PA-1000
fibi5 0. 16 0.16 — PA-1000
Ot i ER (1) — 0. 11 0. 11 PA-1000
QEAIAYOfHE 0.17 PA-1000
2/9(K) Bh QAR — 0.13 — PA-1000
@IZaF — 0.13 — PA-1000
ibi5 0.16 0. 19 — PA-1000
1./19(K) ZY QEfAIAY Ok — 0.18 — PA-1000
Ot b ER (1) — 0. 11 0.10 PA-1000
TR 244 Q& WEMR — 0.15 — PA-1000
1L170K) Bh @®JI5>aF — 0.13 — PA-1000
ibi5 0. 20 0.18 — PA-1000
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5cm 50cm 100cm
Bt BB (L) — 0. 11 0. 11 PA-1000
127200K) B{h w5 — 0.14 — PA-1000
JEERBIA O tEA A — 0. 21 — PA-1000
" 18(B) Y Bt ihER (L) — 0. 10 0.10 PA-1000
b5 0.18 — — PA-1000
Bt rhiDER (1) — 0. 11 0. 11 PA-1000
b5 0. 21 — — PA-1000
10.721(&) £Y Skt — 0. 27 — PA-1000
HE A A — 0. 21 — PA-1000
KERA 5B K& — 0.19 — PA-1000
’ Skt — 0. 29 — PA-1000
g/ﬁgﬁfﬁﬁﬁh HE A A — 0.17 — PA-1000
KER#A 5B K& — 0.19 — PA-1000
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